
Fontaine Fifth Wheel Sliding Brackets

Air Cylinder Kits for

Repair
NWB Slide

LWB Slide

Cylinder kit (CYLNWB)

Cylinder kit (CYLLWB)

Item	 Description	 Qty.
	 2 	 Spacer bushing 	 2 
	 4 	 1/2" 13 Grade C hex lock nut  
	 5 	 1/2" x 1-1/2" hex bolt	 2 
	 9 	 Composite Air Cylinder	 1

9

5

5

4

4

2

2

Item   Description	 Qty.
	 3 	Bushing 	 2
	 6 	Hex nut, lock 1/2"-13, low profile	 2 
	 9 	Hex head bolt, 3/8” 16 x 1-1/2”, 	 2 
		  grade 5 
	 10 	Linkage, LWB 	 2
	 13 	Composite Air Cylinder	 1

6

6

10

13

9

9
3

3



LWO Slide

ATB Slide AWB Slide

Cylinder kit (CYL-LWO-LWI)

Cylinder kit (CYL-COMP)

Item  	Description	               Qty.
	 3 	 Spacer Bushing		  2
	 4 	 3/8-16 x 1.25" Hex Bolt	 2
	 7 	 Lock Nut, 3/8-16		  2
	 8 	 Composite Air Cylinder	 1

3

3

4

4

8

7

7

1
4

1014
1412

12

13

15

15

Item	 Description	 Qty.
	 10 	 Composite Air Cylinder	 1
	 4 	 Flat head socket, 1/2" -13 x 1-1/2", 	 1 
		  grade 5 
	 14 	 Flat washer, 1/2" I.D., 1-3/8" O.D., 	 2 
		  plain 
	 12 	 Hex lock nut, 1/2" -13, grade "C"	 2
	 15 	 Bushing, 7/16" 	 2

Reuse Hex 
bolt 



Item	 Description	 Qty.
	 1 	 Bushing, 5/16"	 3
	 2 	 Hex Bolt, 1/2"-13 X 1"	 2
	 3 	 Hex Bolt, 1/2"-13 X 1.5"	 1
	 4 	 Hex jam nut, 1/2" -13, grade "B" 	 1
	 5 	 Hex lock nut, 1/2" -13, grade "C"	 3
	 6 	 Washer 1/2"	
	 7 	 XHD Air Cylinder	 1

11

1

23

4

5

6

6
7

6
5

3

Cylinder kit (CYL-XAWX)

AWX Slide

KIT-AIR-COIL
Parts required to connect the 
air actuated fifth wheel or 
fifth wheel air sliders to the 
air system.


